
TABLE 14: Total S. typhimurium percent resistance with ACSSuT or ACSuT 
pattern 
 
  

Typhim. 
Percent of 

Typh        Total 
n=801         
n=8508 

 
Typh(cop) 

Percent of 
T(cop)      Total 
n=761       
n=8508 

 
Total 

Percent of 
T+cop    Total 
n=1562     
n=8508 

No. of Isolates 801 100 9.4 761 100 8.9 1562 100 18.4 
ACSSuT 
(penta-resistant) 

301 37.6 3.6 242 31.8 2.8 543 34.8 6.4 

ACSuT 
(quad-resistant) 

13 1.6 0.1 4 0.5 0.04 17 1.0 0.2 

Total 314 39.2 3.7 246 32.3 2.9 560 35.8 6.6 
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